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TOURISM STUDIES
(CTS, DTS, BTS, MTM-II)
Term-End Examination
December, 2021
TS-2 : TOURISM DEVELOPMENT : PRODUCTS,
OPERATIONS AND CASE STUDIES

Time : 3 Hours Maximum Marks : 100

Note : Answer any five questions in about
600 words each. All questions carry equal

marks.

1. How do you profile domestic tourists ?
Elaborate. 20

2. Give the historical account of the construction
of Taj Mahal at Agra. 20

3. Explain the importance of dance and music in
promoting tourism in India. 20

4. Write short notes on the following : 2x10=20
(a) Wildlife Attractions

(b) Ethnic Tourism
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Elaborate the differences between Resorts and
Hotels. Describe the features of a beach resort.

20

Write an essay on the crafts and folk art of your

region from the viewpoint of their tourism

potential. 20

“Kalinga-Bali Yatra has both cultural and
tourism importance.” Examine this statement.
20
Write an essay on PATA and the Travel Mart.
20
Discuss the evolutionary stages of Heritage
Hotels. Elaborate the importance of Heritage

Hotels in image building. 20

Write short notes on the following : 2x10=20

(a) Role of cuisine in Tourism

(b) Sociology and Tourism
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